Beispiel aus U-Bahn Berlin Linie 5 Kehranlage Alexanderplatz

Gleis:

Pasition:

M U D 1 Dt Dk D 06 Dt D D

1(18348 - 12908)
2 (12342 - 18908)

Al_1-6K (18488 - 18522.130859)
Al_5K-7 (18558 - 18602.580078)
AIBK-8 (18558 - 18602580078
ALBK-5 (18728 - 18762130859
Al3 (12348 - 18908)

AIL2-5K (12488 - 12522.130859)
AlL4 (12342 - 12908)
AL9(0-250)

Mittelaleis (18348 - 18908)
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Und dieser Gleiswechsel hier
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1 (18348 - 18908)
2(18348 - 18908)
Al_1-6K (18488 - 18522.130859)
AI_5K-7 (18558 - 18602.580078)
AlI_6K-8 (18558 - 18602.580078)
AIL6K-5 (18728 - 18762.130859)
A3 (18348 - 18908)
Al_2-5K (18488 - 18522.130859)
Al_4 (18348 - 18908)
Al_S (0 - 250)
Mittelaleis (18348 - 18908}
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